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1. Choose the correct answer from the
following : 1x8=8

(@) The Bonded Labour System (Abolition)
Act was established in
() 1976
(i) 1977
(i) 1978
(iv) 1981
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(b)

(c)

(d)

(e)
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Who is the author of the book, The
Coming of Post-Industrial Society?

(i) Daniel Bell

(i) J.P.S. Uberoi
(i) Krishan Kumar
(ilv) Max Weber

The Workmen’s Compensation Act was
established in

(i) 1923
(i) 1924
(iii) 1925
(iv) 1926
Who is the author of the book, From
Post-Industrial to Post-Modern Society?
(i) Krishan Kumar
(ii) Keith Grint
(ii7) Fiona
(iv) Irfan Habib
A characteristic feature. of a rural
community is
(1) formal relationship
(ii) rational will
(iii) community sentiment

(iv) informal relationship

( Continued )

(9)

(h)

Suppression of the Immoral Traffic Act
was passed in which year?

(i) 1961
(i) 1962
(iti) 1963
(iv) 1964
Migration to urban centres from rural

areas has decreased after industrial
revolution.

(i) True
(i) False
(i) Partially true

(iv) None of the above

Crime is a behaviour which is

(i) in violation of the criminal law
(ii) anti-social

(iii) deviant

(iv) informal law violation

2. Write briefly on any four from the following

(within 150 words each) :

(@)
(b)
(c)
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Interlinking work and industry
Alienation

Street vendors
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4x4=16



(d)
(e)
17

Workplace hazards
Health and safety

Forms of industrial culture

3. Answer any four questions from the
following (within S00 words each) : 14x4=56

(@)

(b)

(0

(@

(e)

What is industrialism? Discuss the
main features of industrialism. 4+10=14

Write the meaning of pre-industrial
society. Discuss the differences between
pre-industrial = and  post-industrial
society. - 4+10=14

What is workforce? Discuss why it is
regarded as a problem in industrial
management. 4+10=14

Critically discuss effects of unpaid
domestic work on women and on
children. 14

Write the meaning of poverty. Discuss .
when the poverty welfare concept
developed in India. 4+10=14

Discuss the risk factors and its
assessment in workers in Indian
society. 7+7=14
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